Professional Service Equipment

3501 S. Leonard Rd.
P.O. Box 728
St. Joseph, Missouri 64502
U.S.A.

Toll Free: (800) 821-7320
Phone: (816) 233-6121
Fax: (816) 233-7251
Email: gray@grayusa.com
Www.grayusa.com

Parts List

QP-50
QUICKPAC..

Container Crusher
SN: 65-002614 Thru 65-009048

ltem Qty Part Number Description
1....... 1o, 0-200-31416........... Capscrew, 1/2-13,3 1/2” Long
2. 1o, 1-203-01403........... Hex Nut, 1/2-13, Self Locking
1 TR (S 1-202-01103........... Screw 5/16-18, 5/8” Long
4. 2 s 1-859-04039........... Spring Retainer
5. 2 s 1-233-07004........... Spring, 111/160.0., 9” Long
6. 1o 1-315-00005........... Muffler
T 1o 1-312-01010........... Exhaust Valve
ST 1. 1-274-14002........... Male Adapter
9. 4......... 0-200-31711........... Capscrew, 3/4-10,2 1/4” Long
10....... 4. 1-203-01701........... Nut, 3/4-10,, Self Locking
11....... 1. 8-082-30024........... Tubing, 17" Long
12...... 1. 2-865-02003........... Cylinder Weld ment
13...... 1. 0-275-02001........... Nipple
14....... T 3-670-00154........... Identification Placard
15....... 1. 2-391-05007........... Packing
16....... 2 s 1-390-16001........... Wiper Ring
17....... 1o 2-865-02002........... Piston Weld ment
18....... 1o 4-865-02001........... Crushing Chamber Weldment
19....... 1o 2-859-01001........... Valve Assembly
20....... 1. 2-865-04009........... Rod Guide
21....... 1o 1-203-11204........... Hex Jam Nut, 7/16-14
22....... 1. 1-207-31207........... Set Screw, Special
23....... 1o 1-232-20143........... Vise Action T-Handle
24....... 1o 1-275-24001........... Plug, 3/4-14 NPT
25....... 1. 1-865-02005........... Tray Weldment
26....... 2. 1-202-01223........... Wing Screw
27....... 1. 3-859-02009........... Base Weldment
28....... 4. 0-204-11700........... Washer
29....... 1. 1-865-04025........... Handle Spacer
30....... 1. 3-670-1029%........... Operating Instructions Placard
31...... 1. 2-390-21010........... Gasket

DN121101

@®
®
/"®

© 2001 Gray Automotive Products Co.

670-90309



	Parts List

